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1. RTFUIT & [ G o1 BRIGTE BT SR B Gl 22

Who can initiate impeachment proceedings against the President of India?

(A) (P) UG DI BIg H Gg

(a) Either House of Parliament

(B) (@) HId Ald THT

{b) Only Lok Sabha

(C) () g 3ol JHI
{(¢) Only Rajya Sabha

(D) (9) Big f fgeum I
(d) Any Vidhan Sabha

Correct Option(s): A

2. FEfafad 3 ¥ oH U9 RER & Jod &1 Jid 18] 82

Which of the following is not the source of Revenue of the Union Government?

(A) (@) 3 (P Y R TR B B BIFHR), DRARIA B AR Hadl HY

(a) Income (except tax on agricultural income), Corporation Tax & Service Tax

(B) () TS AR 3 qEg 31l W IdIG Yeob

(b) Excise on tobacco and other goods

(C) () USITe 1Y UR &R, Well &1 H[H Bl SrSH IRGHI! & Yoiid e IR &)

(c) Capital gains taxes, Taxes on capital value of assets except farm land

(D) 9) B T YA § Haftd & 3R Yob

(d) Taxes and duties related to agricultural lands

Correct Option(s): A

qbd g2
1. O HIRATS U S B ThITd g od [l A &1 U T 3Rl & YR IR UGd Ul FpIRId 3{yal 3Ud
& | g2 &1 A UPhd! g Fod BeRdeU 34 3% U Gifsd 31y &l Qluiifs 83 o
1. Ol B1iaTs ddbuird ¢ dfe U cdfdd &l UGedd SYdl FShIRd & 34dl 34d <& H Heidl 6 o [ag fdd Wod
Ui 59 910 8 Yqp 8 o favg! dRUEw, o 39 iRl gR feifad wu # ReplS fawan s, ag difdbss a9
HIGRWP o) ¢ 1 U4l sifd @] oy |
L, 3aT g yTd, ore ol HTHa g1, 39 a1d 8 Hdp g [ Iy &1 Yref & 3d § ug SAagiNG g1 ¢ fob U St

CafeiYl
Iv. mﬁﬂﬂﬁ?@gl
Y &I Ul by Hgl g/4gl g2
A police officer was dismissed from the service by Mumbai Police Commissioner under Article 311(2) (b) of the Constitution
without a departmental inquiry. Is such an action tenable?

I. Such an action is tenable in case a person is dismissed or removed or reduced in rank on the ground of conduct which has
led to his conviction on a criminal charge.

11. Such an action is tenbale if the authority empowered to dismiss or remove a person or to reduce him in rank is satisfied that
for some reason, to be recorded by that authority in writing, it is not reasonably practicable to hold such inquiry.

ITI. The president or the Governor, as the case may be, is satisfied that in the interest of the security of the state, it is not
expedient to hold such inquiry.

IV. Such an action is not tenable.

Which of the above statements is/are correct?

(A) (@) P
Only I

(B) (@) had 1 3R 11

Only Iand II

! BN B fa1 ot fameita Sifg & Wiaye &1 4RT311(2) (W) & 3iefl9 dar ¥
R bR



(C) () bad Iv
(c) Only IV

(D) () HIA L, 11 3R 11

(d) Only L, I and I1I

Correct Option(s): A

4.ﬁ?wﬁwﬁ$uﬁwmaﬁ?ﬁﬂmuﬁﬂﬁ$8ﬂﬁﬁﬁmﬁﬁuﬁaﬁaﬁmﬁ?

Which constitutional authority can alter the areas and boundaries of States and Union Territories?

(A) (F) YRd & TPy

(a) President of India

(B) (@) WYUFH:I & srezefar =i HEHS T, U ARy & gRI

(b) Union Cabinet headed by the Prime Minister, through an Ordinance
(©) (M) H9g

(c) Parliament

(D) (3) THTTad Tl & el 9 Tue

(d) Parliament, in consultation with the States affected

Correct Option(s): A

5. WGy WMo fA90s & SF=E 368 T et Fufaiad syt iR faar &t
1. YAy HNe fI8geh 1 i i YHT &R U a1 S Uabd §; Iod T gRT gl

RN fopan
S i BT

1v. 9% 3 yde Ue A U@ [ARIp agag aR1 a0 3 uika fean s anfee, Rrga ol § we & oo wew!
BT 50% TUT & § JURIT X HAGH & dTdt €l fagls Sal gRI

STF Y H U HYH Tl g2

Consider the following statements regarding Article 368 of the Constitutional amendment bill;

1. Constitutional amendment bill can be initiated only in Lok Sabha; not in Rajva Sabha

II. The bill can be introduced either by the minister or by a private member

IIL. The bill does not require prior permission from President

IV. The bill must be passed in each house with a special majority, means 50% of the total membership of the house and 2/3rd

of the member of the house present and voting.
Which of the above statements is/are correct?

(A) (@) dad 1 3R 1

(a) Only I and II

(B) (@) &ad 1, 11 3R 111

(b) Ouly I, 1l and TII

(C) (N Had 11, 11 AR v

(c) Only IL, 111 and TV

(D) (8) Sugad Tl

(d) All of the above

Correct Option(s): A

6. MUIRET H U &1 W1 wiau™ oA fadgs! § Jefed gl 82

Which of the following provisions do not relate to Money Bills?

(A) (@) DY DI I

(a) Abolition of a tax

(B) (T) Al <31 3R B B! R BT

(b) Imposition of licences, fines and fees

(C) () HRA 1 3 imal Ffe &t siftren
(¢) Custody of the Contingency Funds of India

-~ ~ -~ —~ —~—



(D) () U Y &1 HRd &I GHIbd 1Y G UHIRT B B 9N S
(d) Declaring an expenditure to be charged on the Consolidated Fund of India

Correct Option(s): A

7. ST A U Y AT 31 U SiR Fufiad A | ad fRdey o ugaH &
L T & i1 1 118 el SRR o e FRY & e e s
1. ¥9 WHR & el ff e gr1 s 2R @ e aah YRIRE] @1 FAfld =9 9 YR &1 gafhg FH oy

m?{?ggrm HY TG gATRT &2

Please read the following statements and identify the correct option below

L. All moneys deposited in a court shall be paid into the Consolidated Fund

II. All moneys received by any officer of the Union Government in his official capacity must be deposited into the
Consolidated Fund of India

Which of the above statements is/are correct?:

(A) (@) Had FUT 1L 8

(a) Only Statement [ is true

(B) (@) had YT N Tel ©

(b) Only Statement IT is true

(C) (M) ! PUH GG &

(c) Both statements are true

(D) (9) GF Y TTdd &

{(d) Both statements are false

Correct Option(s): A

8. FafaRad feg e eg Byl oiik T Syl & A A RU U dof &1 U ok u8) Rewy &) gam o3
EGHYH: UM & o WAyl & YA & g vexr Rymdeei 79 o8 & gR1 srewe g 3|
Elﬂ%}:uaummaﬁr ud 2TeT Rared! & gl &1 e e & ferg Seman TR o et faerd yRdr S 1 g

Read the Assertion made below and the Reasoning given in support of the Assertion and identify the correct option
Assertion: Amendment of certain provisions of the Constitution requires ratification by half of the State Legislatures.
Reason: This provision was made to protect the interest of the erstwhile princely states which merged into the Dominion of
India

(A) (@) T¢ DY 3R T I TGl ¢ fobed ©¢ By & forw b Tgt Weleeor gt @

(a) Assertion and Reason are both correct but the Reason is not the correct explanation for the Assertion

(B) (W) €G B 3R dh Gl Ul 8 bl €¢ By & foY ddb gl WHIHRT §

(b) Assertion and Reason are both correct and the Reason is the correct explanation for the Assertion

(C) (T) TG B 3R T a1 7Ted §

(c) Assertion and Reason are both incorrect

(D) (%) €¢ HY ! § fobg dcb 7Teidl &

(d) Assertion is correct but Reason is incorrect

Correct Option(s): A

9. B4 UMD SHTUYHRVT & 3feef 3R D Few 1 FMyfad Ayufd aRT fidud R ¥ $ st
The Chairman and every other Member of the Central Administrative Tribunal shall be appointed by the President after
consultation with whom?

(A) () HRd & Gu=HA

(a) Prime Minister of India

(B) (M) HRd & U e
(b) Chief Justice of India

(C) () WD GHT 3{eef
(c) Lok Sabha Speaker



(D) (9) Sugaa it

(d) All of the above

Correct Option(s): A

10. T 3manT @ deftd FufRad 8 8 F W HyH Ul gl 82

Which of the following statements regarding the Finance Commission is not true?

(A) (@) TUTA U U avf & fore o i &1 716+ & 4

(a) President shall constitute a Finance Commission every five years

(B) (M) TPUfd U fa<ig 3TN 1 T34 U8 GHg R S o1 98 awdd oz

(b) President shall constitute a Finance Commission at such time as considered necessary

(C) (1) TE, 3MTAT & Tew! ol 3gdl bl FHuRu &R bl

(¢) Parliament may determine the qualification of members of the Commission

(D) () 3TN & 308 R Yol S 9o td 1) wafded [ &1 uHiikd g1d €

(d) Pay and allowances of the Chairman and members of the Commission are charged upon the Consolidated Fund

Correct Option(s): A

11. i T4 TEARETURIe® &1 U e S aren 3o e omm safdaal § 9 fddd 9o o SRTeR gid 82

Comptroller and Auditor-General shall be paid a salary which is equal to the salary of which of the following dignitaries?

(A) (@) g HAl

(a) Minister of State

(B) (9) dfe-e fua
(b) Cabinet Secretary

() (M) Hlerd

(c) Secretary

(D) (9) Yai=d Trarerd & grree
(d) Supreme Court Judge

Correct Option(s): A

12. 7T &Y B UgdH B

Identify the incorrect statement:

(A) (@) Frizd Ud AReRaTaRle® & da- Ud 4 Jdi=d -Ter & U el & aRieR ghil

(a) The pay and allowances of the Comptroller and Auditor General will be equivalent to a judge of the Supreme Court

B) (@) e 4 neeRamiead s o @ oafy & fu ar 62 99 &1 g as, S i Ugd g1, 30H Ug R §H g1

(b) Comptroller and Auditor General shall hold office for a term of 5 years or until the age of 62, whichever is earlier

(c) () T, Fdad vd wgreiadiad & gel WieRad Hiterl g

(c) President is the leave sanctioning authority of the Comptroller and Auditor General

fdl g & G4l [GUECAS)
(D)(‘ﬂ% @%m%(w Ud 3Afd /) U4 ARRIEIIRI4® B! 39 59 & oal & GHe &

(d) Governor of a state may (with the prior approval of the President) relieve the Comptroller and Auditor General of the
responsibility of compiling the accounts of the state

Correct Option(s): A

13. B & gR S Fom! 1 eRaraen, Faaed Ud HeTerariiad & =gl 9idl 715 81 quifd ke o
%ﬁgﬂﬁm@a@ﬁa@mﬁ&ﬂ@m’% i B Fod B | Fafafad 1 3 @ o 2rd 37 Tal & siedie =gt
,3,“?'{] 2
Audit of certain bodies is not entrusted to the C&AG by law. However, C&AG can undertake the audit of such accounts under
certain conditions. Which of the following do not constitute one of these conditions?



(A) (@) TFUR, I5TUTE, B LR UL & TS B SHRIY TR, ST ot 1oy 1

(a) On the request of the President, Governor, Administrator of UT, as the case may be

(B) (@) U Wi, UfE IS 81, @ ad I FUEE Ud HElerauRies ¥ G $3- & UHTd o fdr Smem

(b) The request, if any, shall be made only after consultation with the C&AG
g:) () TR gRT Fa2 &1 7 4RI &1 SEd U Fdad Ud Aglararudiyd U8 UiUeR faU S &1 urdH1 &) gl

(c) C&AG may request such authorisation given the amount invested by the government

(D) (%) T2 SraTaie <fd dibfed # g1 a e Ud Hereraradieid wauRon 4 U dRarafie ofg- g1y | o Uadl §

(d) C&AG may suo moto undertake such audit if it is in urgent public interest

Correct Option(s): A

14, a9 Ud HRIAIRe & ©0 ddadl @1 Y i dl 71 3 | e Ud Hereiaiaiiad & ddenl J Hefdd wgt
fadhed & UgaH B |

1. gAfed A T ygie uie urd o34 e HRG TR TSR 16 B aamiLie Friad Ud Agamiiied &1 abdl o

wafepd [ J 360 I &3 aral [ o uradal & o &) adlen e Ud HEIeRaTuRle B Uehdl § Sl e
%ﬁﬁﬂmm&m@quﬁ% * i

111, 3 U TRTeRATOR1&® T 314aT U Wox & [l draierd 3fal [AumT & HR o BT cRaTilel &) Havdl ¢ |
Some of the duties of the C&AG are listed below. Identify the correct option relating to the duties of the C&AG.

I. C&AG may audit an Indian NGO receiving substantial grants from the Consolidated Fund.

II. C&AG may examine the accounts of any recipient of loan from the Consolidated Fund that is not a foreign state or
international organisation.

IIl. C&AG may audit the store accounts in any office or department of the Union or of a state.

(A) (@) Iugad Wl o el 8

(a) All the above Statements are correct

(B) (T) Hd YT 11 3R 111 TG §

(b) Only Statements II and III are correct

(€) (1) Had HY- 1 Ugl §

(c) Only Statement III is correct

(D) (9) IFgad JHt By 7ed §

(d) All the above statements are incorrect

Correct Option(s): A

15. AR Hfayr Rafdra 4 Fase ud Agiaudiae & Wdad o GREd o @ o &1 | RaRf@ad 3 oF
I WY S T HgeaIRIes &1 Wdadl & GFAEd $34 3 defta 9381 81

The makers of our Constitution sought to ensure the independence of the C&AG. Which of the following provisions is not
related to ensuring the C&AG’s independence.

(A) (@) Fdze gd Agreramadad &1 Rl yufd ®1 ukdd &1 Sme S 3 ug & ged iR @

(a) The reports of the C&AG shall be presented to the President who shall canse them to be laid before Parliament

(B) (@) MU3% Ud HRIaRaIuiigd HRd TRER & 3 3R 3 ug & forw um 7t g
(b) C&AG shall not be eligible for further office under Government of India

©) @1 Fdaes ud Aeeaadiae & e & Taie oag & gifea A @ uuifya fearsmom

(c) The administrative expenses of the C&AG’s organisation shall be charged upon the Consolidated Fund

HRATY T4 3iR okl faHmT & Bl &1 dar df 7% U4
g’l)ﬁ%mmw&% HIT &1 YR APl R U 19 Hgierauiise &

(d) Conditions of service of persons in the Indian Audit & Accounts department may be prescribed by the President in
consultation with the C&AG

Correct Option(s): A



o IR I AR TR @) o o W T BT 2 PRI TOR
AL D e T S 41 99 Tt R

Service HQrs. and authorities below them have been delegated certain powers of reappropriation. Which of the following
kinds of reappropriation do not fall within these powers?

(A) (@) 3G Ui & 3fefiH gt

(a) Reappropriation under the same Sub Head

8) (@) fafte faxga e s dl=

(b) Reappropriation between different Detailed Heads

(©) (1) &g =l & o gAfdfisH

(c) Reappropriation between Minor Heads

(D) (%) 3 @Y M & 3fef Iyl & <

(d) Reapprepriations between Sub Heads under the same Minor Head

Correct Option(s): A

17. Fefaf@d 39 &9 91 321 e T8 Ya1 Uradhan § g Gl SiTdl g2

Which of the following data sets is not reflected in the Defence Services Estimates?

(A) (@) I ay & U ol UTddha

(a) BE for the current year

®B) (@) 3Tdl 9y & fou goie Urddh e
(b) BE for the next year

(C) () I a b FeTT Ui e e

(¢) RE for the current year

(D) (9) s 94 & U §uie iadhaH

(d) BE for the previous year

Correct Option(s): A

i AR HH &1 YaT TWh DI AT H JHfa & WRa Bl Ted HH I
%ng'_ggf@ﬂ HIUD I T (i) wH eetel

Which of the following is not an objective for constituting the Chief of Staff Committee (COSC) with CDS at its head.

(A) (F) & VAT TR REBR B IR UG Bl

(a) To advise the government on defence strategy

(B) (@) Il Har3fl & dld gk THIHUN 3R GGl D Ul B

(b) To achieve better integration and jointness among the three Services

(©) () B4 B1fde! R Wy g1 Wiy Rufafergs el & did SRl & Hel &1 §e Bl

(c) To address issues of disparity between military personnel vis-a-vis civilian bureaucracy

(D) (9) IR S ¥t 7 fadt ot fawg )R WRaR &) garrg &

(d) To advise the government on any matters referred to it

Correct Option(s): A

19. Fufaf@a o @ =53 w Rem e a1 el I Term 3EEH el Ui H3d1 82

Which of the following bodies do not receive grants-in-aid from the Defence Services Estimates?

(A) (@) ferTers udarigor diM, qiftfe

(a) Himalayan Mountaineering Institute, Darjeeling

(B) () &1 ey 3R fagayur Yoy, =3 e

(b) Institute for Defence Studies & Analysis, New Delhi

(C) () AT 31Uy 1S
{c) Naval Research Board

— . —~ —~ -~



(D) (5) Taodd FedoR HIR A [dEieid, gl
(d) Vijayanta Senior Secondary School, Avadi

Correct Option(s): A

20. 381 T H Fgfaad faurt 8 9 g fqum & el orfa < amete Feed: ordge

Which of the following departments in Ministry of Defence has ‘Directorate of Standardisation” functioning under it?

(A) (@) &1 Idie fauqnT
(a) Department of Defence Production

(B) (W) &1 STHUM T4 fqHg faumT

(b) Department of Defence Research and Development

(C) () &1 faHm
(c) Department of Defence

(D) (9) g1 feu T fadhed! 4 4 g 4t 7T

(d) None of the options given here

Correct Option(s): A

%W%@Hﬁomumﬁwm T el 8. 98 I fufa § Fafafaa 34 9 feu 9k @) arfte

An employee who gets a promotion on 01.01.2020 will get his Annual Increment on which of the following date, in the normal
course?

(A) (@) 01.01.2021
(a) 01.01.2021

(B) () 01.07.2021
(b) 01.07.2021

(©) (M) 01.07.2020
(c) 01.07.2020

(D) (5) 391 TRt (a2 B gof A R

(d) on completion of his probation

Correct Option(s): A

22, ?Wﬁ%ﬁf‘uﬂﬁﬁaﬁm% RIS B (AT 2T ° T o v [ g | Refefaa i e e

Attempt has been made to place various ranks of the three Services in ascending order of seniority. Which of the following is
incorrect?

(A) (@) UG B, Aftede HHISR, TR SHISR, HSR SR

(a) Army Captain, Lt. Commander, Air Commodore, Major General

(B) (@) Affee, IS, qU HP, FASR

(b) Lieutenant, Commander, Group Captain, Commodore

() (1) T IR, A YEaR, AR GRE S(BIR, TG 3HIR
(c) Petty Officer, Naib Subedar, Master Warrant Officer, Flying Officer

(D) (&) FHEAT P, HSER, TR AiLel, RUR UsRd
(d) Navy Captain, Brigadier, Air Marshal, Rear Admiral

Correct Option(s): A



7%%1’[@@ . Frawraeh). 1965 & ER FEfiad 7§ $F ve 79 &8 (@R 9eeh T8l 82
I W%W%@WWW%H@WW%WWHW%M 3R ISP UTH R vfapd

v, gard

As per the CCS (CCA Rules), 1965, which of the following is not a minor penalty?

1. Censure

II. reduction to a lower stage in the time-scale of pay by one stage for a period not exceeding three years, without cumulative
effect and not adversely affecting his pension

III. Compulsory retirement

IV. Dismissal from service

(A) (@) TYF I AR v
(a) Statements Il and IV

(B) (@) YA I, 111 3R 1V
(b) Statements IL, III and IV

(€) () ST A 4 Bl N Y IS 8 &

(¢) None of the above is a minor penalty

(D) (@) T faseu g 3 g

(d) All the options are minor penalties

Correct Option(s): A

24. 8T HATTT & b FAUm1/HIT o 31efi Ta WeRi+it T e a1 82
Which Department/Division of Ministry of Defence has Defence Exhibition Organisation under it?

(A) (@) &7 faHm & 3¢9 TaRig fediem

(a) Ceremonials Division under Department of Defence

(B) () &1 3THYM Td fgamy fgHm

(b) Department of Defence Research and Development

(C) (1) & TG [aHIT
(c¢) Department of Defence Production

(D) (&) g8l fau 710 fasbedl # 4 i 8T

(d) None of the options given here

Correct Option(s): A

25. M YSR fayrT (dieggh & g2l el & o o4 g dgied WiaR g2

Who is the Chief Accounting Authority for all transactions of Canteen Stores Department (CSD)?

(A) (@) &1 oRaT HRI-A®

(a) CGDA
(B) (@) Afud e fad)/faxfia TaesR (e Ian)

(b) Secretary (Defence Finance)/Financial Advisor (Defence Services)

(C) (M) Yl T8
(¢) Chief of Army Staff

(D) (9) &M TiIa
(d) Defence Secretary

Correct Option(s): A

- = - .. o~ ~ — - N



26. *3HUTY’

1. U8 18- naﬁ‘aig??m&?ﬂﬂ%ﬂaﬂ%mlg?ﬁ%
I1. 38 TR ST & a1 WY Bl U B & (e 3ifiepfedd ([omg) fbar mar g

3R GITSHIED TaTHaIsl & MUR W 25% dd AR Fafta dex # wiifa g
e

Consider the following with regard to ‘Agnipath” Scheme:

L. It is open to men and women between 18-21 years

II. 1t is designed to attain a vouthful profile of the Armed Forces

I1L. Based on merit and Organisation requirements, upto 25% ‘Agniveers’ will join the regular cadre
Which of the above is/are correct?

(A) (@) Had 11 3R 111

(a) IT and IIT only

(B) (@) Fad1 3R m

(b) 1 and III only

(©) (T bad 1
(c) I only

(D) (%) TgT fau e 2t faed
{(d) All of the options given here

Correct Option(s): A

27. TAIHTA 3T oy T & s Fafefed R AR &t
ey 2R e Jaial T YR 2R 3G YIS HIT B 4T ST AR Gl U8 B 31 51l b g & ey o

&1 agIial 3R ISP GHTT TR YHTE] ﬁamafﬂ D »
i Lk LR it Stk ML 3k

Consider the following under Allocation of Business Rules:

“Defence of India and every part thereof including defence policy and preparation for defence and all such acts as may be
conducive in terms of war to its prosecution and after its termination to effective demobilisation.”

Which Department under Ministry of Defence is responsible for above work?

(A) (@) Sg & faum

(a) Department of Military Affairs

(B) (@) T&fT faHmT
(b) Department of Defence

(C) (7T &M STHYF U fabrg fqum

(¢) Department of Defence Research and Development

(D) () T&HW(W) WWW
(d) THQ of MoD (Army)

Correct Option(s): A

28. 18-22 AR 2022 & s MR | I 12d (36 vagul &1 1 fawg awg (o) «ft

What was the theme of 12th DefExpo held at Gandhinagar between 18-22 October, 20227
(A) (@) &1 H <rAMHRar

(a) ‘Aatmanirbharta’ in Defence

(B) (W) *HIRd: I g1 &1 fafAnior b g4y
(b) ‘India: The Emerging Defence Manufacturing Hub’

(C) () TR &1 4y’
(c) ‘Path to Pride’

(D) () &1 A fSfored erqmiieE

(d) ‘Digital Transformation in Defence’

Correct Option(s): A



29,

fofafad &1 e &1

Match the following:
i == % | agfer wae R srawirg angr
Rustomll | @ Multi-missionunmanned aerial vehicle
i | e T o sraAt e, 7o FamTe

Nirbhay Long Range Sub-sonicCruise Missile

AgniV Long Range surface to surface ballistic missile
Nag Anti-Tank Guided Missile

o
b
il |#fEy W | et ot g Ay A ey ww qvalrs e
c
T
d

(A) (P) i-H, ii-T1, 1ii-W, iv-d

(a) i-d. ii-c, iii-b, iv-a

(B) (9) i1, ii-4, iii-P, iv-d

(b) i-c, 1i-d, iii-a, iv-b

(©) (1) i-9, ii-@, iii-T, iv-4

(c) i-d, ii-a, ili-c, iv-b

(D) (1) i-®, ii-, i1i-T1, iv-H

(d) i-a, ii-b, iii-c, iv-d

Correct Option(s): A

30. 39 G (TTX) TT A4 1 AT oD gRI HRAR ARG8T A g IR bl § HRA AN bl (el Ui

What was the name of the operation through which Indian Air Force evacuated Indian Nationals from conflict hit Ukraine?

(A) (@) AT a1

(a) Operation Maitri

(B) (@) H{TOX=E T
(b) Operation Ganga

(C) () TR Hbed
{c) Operation Sankalp

(D) (9) AR IR

(d) Operation Sagar

Correct Option(s): A

31. Fofefad o @ &F 91 & TRaT [T &1 Td & 781 37

Which of the following is not a function of the Defence Accounts Department

(A) (F) TR gl T Ydftrd Gl U4RT &1 Yo

(a) Payment of all charges pertaining to the Armed Forces

(B) (W) & Yoyt T Teiftra gaft wiftqat &1 aaidA

(b) Accounting of all receipts pertaining to the Defence Services

(C) () TG GRI SRIET SR dd &1 3iaRe dmrudian

(¢) Internal audit of store accounts maintained by the Air Force

(D) (9) .09 8. & qiftiicgs okd BT 3FRA

(d) Maintenance of commercial accounts of the CSD

Correct Option(s): A

32, FgfifEa 7 @ $F 91 ouF Tdd 82

Which of the following statement is incorrect?



(A) (@) T 4T Uy R, e Td.0.00. gR1WRdd [T 7Y &l ol el &1 g

(a) PCDA Bangalore audits bills preferred by HAL

(B) (@) & o1 WY A (3FUR) YaU BRI o 1.0, 3.1, o &1 SFRE T 8

(b) PCDA (O) maintains DSOP accounts of Army officers

%H:V(H}Q&ﬂé@utmﬁu%@rg@m) 73 feell & 3refi= veyT e Wg e g (aTgEHT) WA gy & Siffe] &
(c) JLCDA (AF) under PCDA (AF) New Delhi maintains the pay accounts of IAF personnel

(D) () ?&ﬂ?%mmn?fﬁ?ﬁa? (T fece & e PR oar AR @19, W& HaTe™ & wiudred & ddy 1
mﬂ) functioning under PCDA (ND) makes payment in respect of MoD Secretariat

Correct Option(s): A

33, Fufifed & 9 &9 W HyE 98l 82

Which of the following statements is correct?

(A) (@) D=1g AP a1, &1 faymT & 3P o1 8

(a) Kendriya Sainik Board falls under the Department of Defence

(B) (@) S SNTFU., & IAGHA faum & (el 311 §
(b) DGAQA falls under the Department of Defence Production

(C) (T i1 v+ e, e faum & afefi e g

(¢) Defence Exhibition Organisation falls under the Department of Defence

(D) (9) TeR&H, 99 A & [T o U A1 8
(d) Coast Guard falls under the Department of Military Affairs

Correct Option(s): A

34, PR 7 9 & 9 <fia I 9amal & Ry o 798 ord &

Which of the following responsibilities does not devolve on the Department of Military Affairs?

(A) (@) Far3it gRT Wl ST & ST Bl 9gral &l

(a) Promoting use of indigenous equipment by the Services

(B) (F) a1l & U IRy At

(b) Revenue procurement for the Services

(C) () AT H Had Tl &1 agrar oAl

(c) Promoting jointness in operations

(D) (9) Ysitia ifeugul & AR S

(d) Overseeing capital acquisitions

Correct Option(s): A

35. Fufafad ¥ @ & w1 sy Ruiiva erdfafd o avlk gl axar g

Which of the following statements does not describe prescribed procedure

(A) (F) TEER $ [T90 9% DI 0 & G4 HWR Uiy f6g1 S 91fgy

(a) Subject matter of correspondence should be entered at the top of a letter

%1(1@) W@wmﬁmﬁmmmmmmmmm T THd faan ST 8 SR SuH

(b) Reminder must mention number and date of the letter to which attention is drawn and need not mention the subject

(©) () T3 H U= &) 95 Bl IR 3ifdd @ Sl Tifgy, #Hle & dRig el

(c) Letters should bear date of despatch not date of draft

(D) (%) STe 0 & Fver & e g9 &1 Wura 8 <l g U g & HioR Sfdf o U fasar s =gy
(d) Where disposal of a letter is likely to be delayed, interim reply should be sent within a week



Correct Option(s): A

36, Far QI B TR G Yafd Bl W HU e ¢

Which of the following statements regarding the maintenance of Service Books is incorrect?

(A)@)W@Wﬁﬁﬁﬁﬂﬁ@ﬂﬂﬁ%%ﬁﬁﬂﬁﬁﬁ@ﬂ%ﬂw

(a) Entries in Service Books will be got attested by the individual concerned every two years

®) (@) T gferell 3 uRaR &1 faawul gt fad ST <Ifey

(b) Family details should be pasted in the Service Book
%mwmﬁ Wwﬁ@awaﬁmaﬁmmﬂqﬁaﬁaﬁmww%mmaﬁawﬁm
HTde Xl

(¢) Date of Birth recorded in Service Book can be changed only if the individual applies through proper channel

D) (5 RIFRT & HIel #, dd1 g1 &1 pera fopaT ST IR SR T AaTTten SUdR) §RT SUS!
&1 B it ST d1gT
(d) In case of transfer the Service Book should be brought up to date and got audited by the LAO

Correct Option(s): A

37, e FREe! o At ffr-y&ic! & IORWId &I afdd i gl FIHFER 7Tad fBaH 1 UgaH 3L
Different Controllers have been assigned the responsibility of maintaining various Books of Regulations. Identify the incorrect
match below:

(A) (@) Brafe FEH-GES X1 - 4T a1 JeH @ (3R
(a) OM XI - PCDA (O)

(B) (W) X&/T <iaT TfRell - i1 oiar HgTiHaA®

(b) Defence Account Code - CGDA

() () BT FRIH-GETeh {7 11 — i1 i fvefiee (8, TS

(c) OM Part Il — CDA (Army) Meerut

(D) (9) Srdier FEA-gEd X - &1 kgl 4y Fias @i 956)
(d) OM XIII - PCAD (BR)

Correct Option(s): A

38, Fufefad § T oF 91 &YF 7Tad o2

Which of the following statements is incorrect?

(A) () BT SR HIT 1 Drafery & frarfafdy 3R swfer & siafve S WareH 3 deftd g

(a) Part | Office Orders relate to procedure and internal working of the office

(B) () M7 11 By &2 safaa difHd-Amel 9 Hefdd gid

(b) Part IT Office Orders relate to personnel matters

(C) (Ty SR AT B, Brferd gRT UG P STH S, i era Fiae gRT SR fobar Sirer @

(c) Instruction Orders are issued for the compliance of the office by the CDA

(D).(¥ HR‘EY;E 1 RIS U M ERI bl STl & Tl i1 3 oy ST arel cbred el yffad o et
&n?)tsﬂ) 3R g e fobar it &
(d) Master Note Book is maintained in each Section noting the orders and decisions affecting the work dealt within the section

Correct Option(s): A

39 PrafifEd 1 2 oy Sewhf & YR g3 gat # i 181 far g2

Which of the following platforms have not been inducted into the Indian Armed Forces?

(A) (P) XTI
(a) Rafale

(B) (@) YW §He

(b) Super Hornet




(©) (M fori

(¢) Chinook

(D) (8) Ao

(d) Tejas

Correct Option(s): A

ISR &l Fufafad 7 3 oy vaw d wiftd foar w1 g2

gﬁ{f&aaﬁsﬁ:{maﬂﬁgﬂ%ﬁwaaﬂqﬁ

Defence Industrial Corridors have been established in which of the following states?
1. Uttar Pradesh

I1. Madhya Pradesh

I1I. Karnataka

IV. Tamil Nadu

Select the correct answer using the code given above:

(A) (@) Gl fased Hgl §

(a) All the options are correct

(B) (@)1 AR v TEI &

(b) 1, IV are correct

(©) (M1, AR v IE 8

(¢) L I, IV are correct

(D) (@) L I, R 11 981 &

(d) 1, I, 1II are correct

Correct Option(s): A

. ey, L) FaArad, FRafafad :

A ) T, L e e S 1T

11 3 IS & HHaRl

1. w12 o s, 9 o 3 T TR © & &1 I R Hal Y g b S 8

v, YR Yerd QIO Higdl & TS 13 Fad 102 8 9y aRuiitid 1 |l vad ddart
FEfRad IS &1 JUgN H3d gU el SR & 9 Y

CCS (CCA) Rules, 1965 shall not apply to:

I. civilian Government servants in the Defence Services

11. persons in casual employment

I11. any person subject to discharge from service on less than one month’s notice

IV. any railway servant, as defined in Rule 102 of Volume I of the Indian Railways Establishment Code
Select the correct answer using the code given below:

(A) (@) G FY IS

(a) All the statements are correct

(B) (@) HYA 1, 11 37 111 U1 ¢

(b) Statement L, IT and IIT are correct

(©) AN HYF 1, 1 AR v TG 8

(¢) Statements II, 11l and IV are correct

(D) (9) B N By TS 721 @

(d) None of the statements is correct

Correct Option(s): A

4z.wwmmmm=‘amq@ﬁ@ﬂﬁfﬁrﬁ”magﬁsuaﬁmw%,agmﬁﬁumam%l 39
g | Uil Fafatad fufa o g aed §:

A Government Servant who has been awarded the minor penalty of “withholding of increments” becomes due for promotion.
Promotion in this case may happen:




(A) () HI &8 DI Al FHIE §1 H & TG &
(a) Only after the expiry of the period of penalty

(B) (@) VAR 39 G 8 Gl § O 98 od § Ff Ia &8 $adl U TY S §

(b) Promotion can happen when due as the said penalty is only a minor penalty

(©) (T el &8 | wyifad =gl g §

(c) Promotions are not affected by penalty

(D) () Fs i by TE TS 7

(d) None of the options is correct

Correct Option(s): A

%43. T 4o A A fru 3 &) SRR &3 A waw € 95 Wefid WeR) S &1 i by o 8 e A

Imposition of which among the following penalties does not by itself debar the Government servant concerned from being
considered for promotion?

(A) (@) Fa1

{a) Censure

(B) (9) a1 H aell

(b) Recovery from Pay

(C) (T) had (T)
(c) Only (b)

D) (9) (@) AR (@) Gl
(d) Both (a) and (b)

Correct Option(s): A

44. frgfafed R AR &Y
1. U GROR SHar & Ja gfedl 1 39 YR UR Acb] ST b a8 39 Yl &l Faifid e aret ! SR sl &
g%%?ﬁfsﬁﬁwﬂauﬁ&nﬁmaﬂﬁﬁwgaﬂ%,m@mawmﬂagm%awvﬁwﬁﬁgﬁﬁaﬁ

I GET-AY ( aﬁwgg%?ﬁwaﬂﬁff&u#qugaama?faﬁ%snmmméammﬁa&mﬁﬂmw

TP WRHR PHAR & HHe R [GGR 6T 9 & ugrd 3! uiEkd, YA I8, 3T
%1 foar ST forgs fort 98 U B i ST W e

v, U SRR S a) &) 3y siftafifar sruar Yaighy @ Heftid uraymt & sey s Yaighi|
Suded § A B 1S W gy, (@ H.w) FammEd], 1965 &b 3l & sfarfa T <3 ol g2

Consider the following:

I. Withholding of increments of pay of a government servant for his failure to pass any departmental examination in accordance
with the rules or orders governing the Service to which he belongs or post which he holds or the terms of his appointment

11. Stoppage of a government servant at the efficiency bar in the time-scale of pay on the ground of his unfitness to cross the bar
111. Non-promotion of a government servant, whether in a substantive or officiating capacity, after consideration of his case, to
a service, grade or post for promotion to which he is eligible

IV. Compulsory retirement of a government servant in accordance with the provisions relating to his superannuation or
retirement

Which among the above amounts to a penalty within the meaning of CCS (CCA) Rules, 1965?

(A) (P) B 1, 1 AR 11
(a) I, 11 and TII only

(B) (@) had 11 SRV

(b) II and IV only
(C) Ty bael IV

(¢) IV only

(D) () Tt UL fadedl § A ig +ft e

(d) None of the options given here

Correct Option(s): A



45. 3T Raw (@ ) & Fafarad aRkiRufad 3§ feg uihfRufa & sifl fafga 18l o on g g2

"Dies non' cannot be marked under which of the following circumstances:

(A) () Sy # faena 9 o

(a) Coming late to the office

(B) (B) a1 qd a1 & ureyd 5

(b) Being absent without prior information

(C) (1) &1 3Afa & wrfay 3 Ry a8 ugd ST

(c) Leaving the office early without permission

(D) (9) BaTed § W& forg & &1 &l B F A Bl

(d) Remaining in office but refusing to do assigned tasks

Correct Option(s): A

46, =1y Reifaer AaT (3meRon) Framiaed, 1964 & Tay ¥ Fufeaa Hu! § 8 B4 9 by 7o 62

Which of following is wrong statement in respect of CCS (Conduct) Rules 19647

(A) (@) U TROR] SHAR) GRG0 Fafe 7 o HaifieR &1 ST &1 foridh HefaH o g ag St I ©

(a) A Govt. servant qualified to vote at such election may exercise his right to vote

(B) (@) Ud WP SHIR) pad fauraH Fafas & dey ¥ JoR &R bl g 344dl 37T I BXIET PR Yl §
3T 30 TG BT STTHT R Yebell § AU SHH HITT o Fabdll §

(b) A Govt servant shall canvass or otherwise interfere with or use his influence in connection with or take part in an election
in legislature election only

(€) () TSR HHAR 30 URER S Geed! B1 Fatad H i o 9 e BT TR Bl §

(¢) Govt servant endeavour to prevent any member of his family from taking part in elections.

(D) (%) SuYad A Y D% el

(d) None of these

Correct Option(s): A

47.%%@1@%@611(341?@) e, 1964 % 3N A Iafis T Weg H FfRad # T &1 W o I HIER
Under C-CS (Conduct) Rules, 1964, the term, ‘sexual harassment’, includes which of the following acts or behaviours:

(A) (@) IRIRS YU 1 D! DI BT

(a) physical contact and advances

(B) () T Haell feuguft &3

(b) making sexually coloured remarks

(C) (M) 3r=ehiel el (qTTDT) fexar
(c) showing pornography

() () T et (@), (@) 3R ()
(d) All the options (a). (b) and (¢)

Correct Option(s): A

45, 1 A UE. @00 FrEHEeR, 1965 & SR, U Y BT UgaH H b [0 I Ui 781 & off Fad! §:

Identify the order against which no appeal lies, as per CCS (CCA) Rules, 1965:

(A) (@) JFUR GRI UG BT 3

(a) any order made by the President
%@) 3w, @) FamEd, 1965 & 7w 14 & 318H 3718 St & GRE U6 S TiaeR TRIUId &l

(b) any order passed by an inquiring authority in the course of an inquiry under Rule 14 of CCS(CCA) Rules, 1965

-~ A A ~ S -~ ~ ~ ~ =



(C) (1) Tdh il 1 TR & 198 U Bl Sff Hebell ©

(c) Appeals can be made against any order

D) (%) < g faed (@) 3R (@) el ¢

(d) Both options (a) and (b) are correct

Correct Option(s): A

49. m%ﬁaﬁm(aﬁwﬁmﬁ?ﬁai 3421 Wi T HAT R g1 U SR pHa] Fafeiad 7 3 fows!
grad gl o bl
A government servant facing an Inquiry under the CCS (CCA) Rules may not take the assistance of which of the following:

(A) () dBIT
(a) A lawyer

(®) (T) I9 €I R AT Fg 1 ORI HHarl Sigl sif e B o1 @ &

(b) Any government servant at the station where the inquiry is held

(C) () U Yar-igd TRBRI HHAR]

{c) A retired government servant

(D) (%) af2 Sitg feRY 3R 31 8 d il ol R3F R 313 1l Wl oHart

(d) Any government servant at any other station if Inquiring Officer permits

Correct Option(s): A

50. g Tufae Qay (enagon FammEd, 1964 & siefa e e gR1 e T Fafaf@d 7 9 & 3 B dardr
(g dsae) & U H 3M1d g2

Which among the following actions by the Government Servant amounts to misconduct within the meaning of CCS (Conduct)
Rules, 19647

%%(ﬁjﬁﬁﬁfaiﬁafaﬁﬁaiamwudﬂmaﬁéﬁﬁﬁ%mﬂmaﬁﬁmﬁ%ﬂmﬁwﬁﬁ

(a) Making normal arrangement during election tours of Ministers to enable them to carry out their responsibilities as
Ministers

(®) (@) TRE gRITE AR & el GR1 & SR e & St gr1 9+ | RIprR IR WRET o YaY AT
(b) Arrangements by district officers for affording normal courtesies and security to Ministers on their visits connected with
election campaign

(©) Ty T 21 () i) b QR Wrior HifSa Srisn H TRon § 4 T

(c) Participation in sponsored media programme during study leave suo-mott

@) () T8T R T faped! H 4 313 7

(d) None of the options given here

Correct Option(s): A

s1. BTy Fyfaer Qo (3o Framrae, 1964 & Fef H Fafifad W R &%
. IRFR T 78 Wipla & {31 +f SRR et gof =uv1 3427 3T = Y fdl SRR U 3iydr 3

3raftrd T mg{gﬁa@ﬁa?ﬁr%mﬁmqaﬁqum AR A P T Y U H AR A &1 I Jure
3RYQT Fae H HITT

11. U8 T &I YHI1d B aral o[ dite a1 T U A 9T Ud WHR] HHAR] Tad 98 [F S b I

&1 oo [T U fadR S WTH & § AR 98 AR & el &

%%[a%mm%mﬁmmﬂmﬂéﬁ TR IR W U S & FY S T R AHTaRS § SUddd H A DI Ul
fﬂﬁ 9

Consider the following with regard to CCS(Conduct) Rules, 1964?

I. No Government servant shall, except with the previous sanction of the Government, own wholly or in part, or conduct or

participate in the editing or management of, any newspaper or other periodical publication or electronic media

1L A government servant publishing a book or participating in a public media shall always make it clear that the views

expressed by him are his own and not that of Government

TIL Permission is necessary in participation in the A.LR. programmes and receiving of honorarium thereof.

Which among the above is/are correct?

-~ a




(A) () B3 1 AR I
(a) I and II only

(B) (@) had 1
(b) I only

(C) (M) Had 1 R 1
(c) I and III only

(D) (9) Tg! RRu I §+t g

(d) All of the options given here

Correct Option(s): A

52, Prgfiad oue @ Tle HY 3R I Yeiftra Uel fadey &1 g @
DU i TP B! B 29 SIq BT A TeH B S § b 3 31 & U qroused H HiT o, O SHb Y
ugm?fﬂ’tWﬁm%%ﬂﬁmﬁNmWMWamﬁﬂmmww%l

Examine the following statement and choose the correct option with respect to it:
Statement: When permission is granted for government servants to attend a course of learning, a condition is to be attached
saying that permission may be withdrawn at any time without assigning any reason.

%@)wm&ﬁsﬂmﬁmﬂmw%aﬁmﬁﬁﬁmmﬁweﬂﬁﬂﬁmw

(a) This condition is prescribed so that government servants can be assigned to urgent duties in an emergency

(B)@ﬁﬁﬁ%@@ﬁg&ﬁﬁ?ﬁﬁ%%ﬂ%ﬁ@ﬂﬁ@%%mmﬁ

(b) This condition is prescribed to deal with cases where the government servant starts to neglect his duties due to
preoccupation with the course

(C)(ﬂ)ﬂ%ﬁsﬁaﬁmm-waﬁm@ﬁmﬁmﬂ%ﬁﬁuﬁ%ﬁﬁﬂfﬁamwm%

(c) Such a condition can be prescribed only in respect of courses during office hours

(D) (o) T el 3 i el 1 i @

(d) Such a condition is not prescribed in the rules

Correct Option(s): A

53.3:—«,{1?11%@?1@61(W)W%ﬁﬁ%ﬂ%%ﬁﬁ@ﬁﬁﬂ%ﬁmﬁ@amwm
mé}i SRl b Ty A BT B S TR S SN & 9 feger 7 &l ¥ U AuRerd 1 @ T 8

CCS (Conduct) Rules prescribe that disciplinary action must be initiated against government servants subletting government
accommodation on charges of grave misconduct. What could be the rationale behind this prescription?

(A) (@) TWPR FHIR I WOR & Y Y@ 31 g

(a) The government servant has defrauded the government

(B) %@)mmﬁsﬂmmm%ﬁiaﬁﬁﬁaﬁuﬁﬁmwmﬂ 3R g1 B HefRid $3 H Rmd
el

(b) The government servant is guilty of not upholding the moral code and displaying integrity

T FER A afe T U XA & e I il ot aferd b g o 1 TRBR) AT o [T Udlan &
%)gna?ﬁwﬁmw% e weigy g

(c) The government servant has deprived others waiting for scarce government accommodation for pecuniary gain which isa
grave misconduct

(D) (F) Iudad gt

(d) All of the above

Correct Option(s): A

54, =i Tfarer Yay (3maRon A, 1954mﬁun_1swﬁmﬁﬁﬁaammm@mm%lw
e & ael Fwtadd § A B a1 ey FulRd T8 82

Rule 18 of CCS Conduct Rules deals with movable and immovable property of government servants. Which of the following
is not prescribed under this rule?




() (@) e TRy frao § U gR1 Ug TR 38 ATl Srad ufl o S fan S ey

(a) Annual property return should include details of immovable property held by him on lease

(B)(@)Wﬁﬁaﬁﬁ%ﬁmﬁmwaﬁﬁfﬁmméﬂﬁaﬂwmﬁaﬁiwqﬁ%

(b) Transactions entered into by the spouse of the government servant from own funds need not be reported
(C? @1y 3 gufa & fgg sifHarsy uRar (U9.4.U%.) Se-! @) anftfe wufty faRoll & arawy wfferd faam S
(¢) HUF transactions of immovable property must be included in the annual property return

%D%(%%ﬂﬂﬁﬁﬁmaﬂﬁ%isoﬁﬂ%muﬁﬁ%ﬁwﬁwm%ﬁuﬁwmmmﬁﬁ3{-3?41?1

(d) Permission may be assumed to have been granted if no communication is received 60 days after seeking the same

Correct Option(s): A

5. T T AP HAFTH, 2005 & Yaol H Fofif@d suAl R R &t

. 28 e WG] gRT RN Habe o1 UEaHH ¢
n.Wwaﬂﬁﬁmﬁmaﬂﬁmﬁaﬁwaﬁwmﬂmm@mm%aﬂwﬁmﬂﬁmm%
1. STH T35T YT TG Bl geTU S & UdeT e Sl

1V, TP YT T 5 T8 & SRl Sfudl 65 a9 D1 g e, o+ U8 g1, Ug TR

Iqdea | ¢ ferat wrau™ e febdn T g T fIN U Y Fe UaH DI TE 82

Consider the following statements about the Right to Information (RTI) Act, 2005:

1. Provides for suo moto disclosure by Public Authority.

1. An applicant making request for information will have to give reasons for seeking information.

111 Tt includes provision for removal of Chief Information Commissioner.

IV. Every Information Commissioner shall hold office for a term of 5 years or till the age of 65 years whichever is earlier.
Which is not provided for or specially exempted?

(A) (@) Faa 1 AR 11
(a) I and II only

(B) (@) hadl 11
(b) Il only

(C) (1) Had m AR v
{(c) I and IV only

(D) (9) Tet Ru T fawedl # 4 &I W 7

(d) None of the options given here

Correct Option(s): A

5. Y1 1 SR AFAFEH, 2005 W Heiftra FEfarad Tl R fgaR &1

1.3@[%@@% ST ST TG b o SR & fae @i oft rarerd fRpt are, TelTeE S o Briaiedl W

11, 02 Fopal o7t ST TR Ty Tl ST STy Rear 34 ofl 34 HfFEH & el P arfier & U H a1 g

111, YT b1 HABR AU dldda Bl Yeg S o fare SR T B, Foras oy SR AT Ud URa Ya

mglﬁﬁmimﬁﬂw%ﬁuw YFTER &1 A5 AR WHR ® FTRe 91 & forg Ageayul g
A HH U HYH 44 82

Consider the following statements related to the Right to Information (RTI) Act, 2005:

1. No court shall entertain any suit, application, or other proceedings in respect of any order made under this act.

IL. No such order shall be called in question otherwise than by way of an appeal under this Act.

[II. RTI Act has been provided to strengthen the democracy which requires an informed citizenry and transparency of

information. These are vital to the functioning of demcocracy and to contain corruption and to hold government accountable.

Which of the following statement(s) is/are true?

(A) (@) $ad 11 3R 11

(a) IT and 111 only

(B) (@) Hadl 1 3R I
(b) I and 1I only

-~ £S




(C) My hdd 1 SR 1
(c) I and 111 only

(D) () Tl Ry e a+t faweg

(d) All of the options given here

Correct Option(s): A

57. Yo &1 3SR ey, 2005 ¥ Sffd Ya & ferg @t i ek @ e wrede H FEfafEd @ ueH S
S{ﬁf&lﬁqﬁ@‘ﬂ

An application making a request for information under RTI Act, 2005 shall not be required to give:

(A) (@) T B I BA b AL DIg BRI

(a) any reason for requesting the information

(®) (@) I YUF G & R AT G b Riard DI Hl 3 AfdeTe f[aazor

(b) any other personal details except those that may be necessary for contacting him

(C) (N & RA@EH!

(c)Both A and B

(D) (9) ST H A DI Tl

(d) None of the above

Correct Option(s): A

55, Fafad 70 B e 31 SfUeR AAFEE & el GEEr SR & sfard e o g2

Which of the following does not fall under the definition of ‘information’ under the RTI Act?
(A) (@) ST

(a) emails

(B) (@) TR
(b) logbooks

(C) () A

(c) samples

©) () STE WA D el

(d) None of the above

Correct Option(s): A

5. a1 3 HUPR A FEfad § 9 & ufikd 7e 2

Right to information does not include which of the following:

(A) (@) SIS B oild

(a) Inspection of documents

(B) (@) AT & e I

(b) Taking notes of records

(C) (1) TP Ha=ll B Bie) <1 AR IS &

(c) Taking photos and videos of public buildings
(D) (%) IS B ufcdl &l HFT D

(d) Seeking copies of documents

Correct Option(s): A

60.@6‘[%%@@@%@%@13@%%%@@% TayH Bear g | FafiRad # 8
BN ST U UH WU el 82

RTI Act makes special provisions regarding disclosure of information relating to a third party. Which of the following is not
one such provision?




(A) (@) Sl YT ST W T g & Ui fot! o ol e aey bt hfew &

(a) P10 shall give notice to third party within five days of receiving request

(B) (T) TR &l & YR U AR § b 98 A" Wil §H & 10 fet & iR U g #X ¢

(b) Third party has opportunity to make a representation within 10 days of receipt of notice

©) (n)uﬁa%ﬁwafﬁmﬂ effar @it sren A fad it Heayul © at Tt Al # Webe Y S ol 3FHfd ueH
@1 ol el

(c) Disclosure may be allowed in all cases if public interest is more important than any harm to third party

D) () T G A gy fere g ool # ety wéf g1 3R 3 3ydiet fopu S &1 wraeT wiwferd gim
(d) Decision taken by PIO will include provision for further appeal by third party

Correct Option(s): A

61. o= Ruayor Ao & i wefaniedl &1 a1 < Aow = Taur ok fR=<) amyfaft wdefrell seage
CRIREER!, Hogel/aS TGER # arddiell & fid F & Ry g QRERT & g o el 82

1. A SR g TaT sare oA © ot ugal fe=l oy 3myfarfd &1 3 U1

1. 3 HHI RreR AT SR & TRIe1 U A § sria i S syt udien ur @ g

. 3 HaRt foFd R R deuyeng ey & e sifard Tel @

Which categories of employees are not eligible for Cash Awards for acquiring qualification in Hindi Typewriting and Hindi
Stenography Examinations/Electronic Typewriters, computers/Word Processors under Hindi Teaching Scheme?

1. Employees who know Hindi Typewriting/Stenography even before joining service.

1. Employees who have received training or passed the Hindi Typewriting/ Stenography test from a recognized institution.
1. Employees for whom training in Hindi Typewriting/ Stenography is not obligatory.

(A) (@) Wt fahed wel ©

(a) All the options are correct

®) (@) G} fadeu Ted 8

(b) All the options are incorrect

(C) (M) DY 11 AR a1 §

(c) Statements II, 1Il are correct

(D) () BU 1 3R 151 §

(d) Statements I, II are correct

Correct Option(s): A

sz%a mwu?ﬁmﬂumésmaimm AT BT SUET T STe forge =<l &1 ST TTHINT &
T4 H 3! 30l 82

Which language shall be used for the purposes of communication between the Union and a State which has not adopted Hindi
as its Official Language?

(A) (F) I%
(a) Urdn

(B) (@) dffrd
(b) Tamil

() (M) s &= Hre

(¢) Concerned regional language

(D) () 3t
(d) English

Correct Option(s): A




63. UL Y HX o FRfafad 73 S1F 91 $UF ToHNT 3UFGH, 1963 o Uraer! 3 Yeiftd &:

I @Wﬁiﬂa& SR Y i fgmt

n.qﬂmﬁa WW%@WE&\@%%WW

1L $<10 GRHR & Haerd! & s G-t 3ruar sfiof & oy 70 TR & 9 gul HIeT # 3d1g §ad g1 91fgy
1v. 29 AR & siqrfd same e el gR ug sERa 8 YRGSt aifeT o fom < @l fg=<ll sruan sigisl
YRIGATTEd W ¢ & UM &0 8 BRf 3 G 2 3¢ Dl GR_UTA gl

Please confirm which of the following statements relate to provisions of the Official Languages Act. 1963:

L. Press communiques issued by a Central Ministry shall be bilingual.

I1. Reports laid before Parliament shall be bilingual.

[1I. Communication between Central Government Ministries in English or Hindi shall be accompanied by a translation in the
other language.

IV. Rules made under the Act must ensure that persons fluent in Hindi or English may function effectively and are not placed at
a disadvantage.

(A) (®) Iudad il

(a) All of the above

®) (@) &Hga 1 AR I
(b) Only I and 1I

(C) (1) dad 1, 11 3R 11

(c) Only I, 1I and III

(D) (9) B9 11 3R 1V

(d) Only Il and IV

Correct Option(s): A

64. FEfiREd O QS T WY I5HT a9 1976 A Ffga AT 82

Which of the following provisions is not contained in the Official Language Rules 19767

(A) (&) g TWHR & U By T o &7 7 et 08 & Wi a1 711 UeR 9 fg=dt o g

(a) Communication from a central government office to a state in Region ‘A’ will ordinarily be in Hindi

(B) (@) &8 WHR & U Sy 4 @ 3R T &7 7 fRUd I57 & Wiy THER Gic: s | g

(b) Communication from a central government office to a state in Regions ‘B’ and ‘C” will ordinarily be in English

(C) (1) 5 TXHR & HATTa! & s1a TR 341 31 343l # gl yavel ¢

(¢) Communication between Ministries of the central government may be in Hindi or in English

(D) () TSTHTNT AT Bt 4T 3(3) & Sfaild S axdrasl gl 3R Sfisit # ghl

(d) Documents issued under Section 3(3) of the Official Languages Act will be in Hindi and in English

Correct Option(s): A

65. Fefaf@a 1 A 31 O Id v W SHa &1 i<l § srfaiys g9 Ud 81 ad $HaR! & 4 § 3ified d3
& 170 U 2Ud 81 82

Which of the following is not a condition for classifying a government servant as having a working knowledge of Hindi?

(A) (@) e WHR SHgR) A Afed TemAndey sriar S gl i< &1 0 favg & iy S &1 8

(a) If government servant has passed matriculation/equivalentor higher exam with Hindi as a subject

(B) (B) afe AIqu fe=dl 8

{(b) If mother tongue is Hindi

(C) () U TTeT Feitof A R

(c) On passing the Pragya examination

(D) (9) T TP HHAR) T G907 Xl §

(d) If the government servant so declares

Correct Option(s): A



. 3f &7 4 Iadie (daeym, Fuy iR Faro) g, 20136
Wm@mﬁww%;( ey ) .2013 & YR Ffefed # 9 foy

As per the sexual harassement of Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013, which of the
following options is included as work place?

(A) (@) SFara/ARTT gH

(a) Hospitals/Nursing Homes

@ off FITT. TG 34aT IUHH forad] RITaHT Wi, v spyar quia: o gaid w4 8 &
B)( @%ﬁfﬁﬁf%ma‘mﬁ% _ ufa: o FY Y Bg WHR B gRI

(b) Any department, organisation or undertaking which is established, owned, controlled or wholly or substantially financed
by funds provided by the Central Government

(©) N 1S ) Yeipe TRUF, RiSuw, e URER srdl ufedifildr a1 Wages ®id

(c) Any sports institute, stadium, sports complex or competition or games venue

(D) (8 g1 lRT T fawed

(d) All of the given options

Correct Option(s): A

&7, Ffafad 1 @ fbd e R aikee 1 9 Saied Qieum, Aty iR farw sfifgs, 2013 & siqrld 99
IS HHT T Hhdl 82 _

L A3 H a8gaqul ddid ol g ¥ g 41 SHdfied il

1, A § g1 Ug T dTet Sid o1 4 T BT Syl SfefHiRd g

1. =T e o foru faaT ST et O IagR (o 3ud W TR SRR ST 8

Which of the following may amount to sexnal harassment under Sexual Harassment of Women at Workplace (Prevention,
Prohibition, and Redressal) Act, 2013?

1. Implied or explicit promise of preferential treatment in her employment

1. Implied or explicit threat of detrimental treatment in her employment

111. Humiliating treatment likely to affect her health

(A) (@) Had 1 AR 1

(a) T and Il only

(B) (W) Had 11 3R m
(b) IT and III only

(C) () dael I
(¢) T only

() (9 T8l Ru I et fdey

(d) All of the options given here

Correct Option(s): A

%%@%wmn%msﬁmmm fufgm, 2013 & sigia Rl @ Jdftra Fafafad syl 4 o 9 ey

1. i Hften 9o & i e & MaR 9 Safig &l Rrebrad S ! ¢
11, ST Y e & Hel ¥ Ricbrad S ge & i #gi! & iR B S Fahd §

1. &% TR & i difeq Afeen o1 e aig i Riemd & Tod §
w.%mamﬁaﬁw-xﬂmﬁ TG off Hebell §

Which of the following statements on complaints under the Sexual Harassment of Women at Workplace Act, 2013 is not
correct?

1. Aggrieved woman can make a complaint of sexual harassment within three months of the incident

IL. In the case of a series of incidents, complaint can be made within three months of the last incident

III. Legal heir of the aggrieved woman can also make a complaint under certain circumstances

IV. Time limit for making a complaint cannot be extended

(A) (@) ITGH B A BIE 1 T KT 8

(a) None of the above are incorrect

(B) (@) dad 1 7Terd ©
(b) Only III is incorrect

-~ a



(C) () $ad v 7TTeld B
{(c) Only IV is incorrect

(D) (5 11 3R 1V 7Ted §
(d) Il and IV are incorrect

Correct Option(s): A

69. Pt & gafdRaeH & fore Faffad # 3 @14 a1 ue w1l o2

Which of the following statements about re-appropriation of funds is not correct?

() (@) R o QAR e o) G R ST ST 98 U e ST 41 98 Ui g & R g ¥ o7 3
T & SU R ¢ U1 TR SR ) T Se a1 39 gfe & g fafifid o 3 sud &t o W o

(a) Re-appropriation of funds shall be made only when it is known or anticipated that the appropriation for the unit from which
funds are to be transferred shall not be utilized in full or that savings can be effected in the appropriation for the said unit

@§$§Wmm;%%ﬁma%mﬁ%ﬁﬁmqﬁﬁ%mwm

(b) Funds shall not be re-appropriated from a unit with the intention of restoring the diverted appropriation to that unit when
savings become available under other units later in the year

(C)(ﬂ)waﬂqﬁzﬁﬁ@tﬁﬁgﬂﬁﬁﬁmmww%mﬁ?wmﬁﬁﬁmm%ammﬁ
S 37 gret & o aad Suee g1 S § ot T 1 R bl wgTe () b S b

(¢) Funds can be re-appropriated from a unit which is having unutilized amounts and later when savings become available
under other units the amount of funds taken out can be restored

(D)(ﬂ)ﬁﬁﬁmﬁwmmqﬁaﬁmmuﬁaaﬁﬁmﬁgﬁﬁﬁﬂmwmswalﬁﬁqﬁméﬂﬁaww
e gy foredt ot e farciia af & we @ gd Wi febdl o HebeTl

(d) Re-appropriation of funds from one primary unit of appropriation to another such unit within a grant or appropriation, may
be sanctioned by a competent authority at any time before the close of the financial year

Correct Option(s): A

S0, T faii FRATae (SN, 3R, &1 g 13 98 Sod ¢ [ U@ Sdd (@RuY) 2y @ S & FrT fa Iord

aﬁm%ﬁmm 3T 3 B D Y B d1e [bar ST ARy, A 5 39 ge | UY &A1e2 & Ue i
Rule 13 GFR states that no revenue shall be credited by debit to a Suspense Head i.e. credit must follow and not precede
actual realisation. What is the rationale behind such an order?

(A)@)wgﬁ@am%msﬂﬁimﬁmaﬁﬁﬁmﬂmm%

(a) To ensure that balance under Suspense Heads is kept under control

(B) (@) Tl Wb g s & e ol 1l 8

(b) Because government accounting is on cash basis

(C) (1) TSR & Fid &) UG UgaH B qHY T

(c) To enable correct identification of sources of revenue

(D) (9) WHR B! 7<) &1 U 31 4l Gl uefHid &

(d) To correctly reflect the government’s cash position

Correct Option(s): A

71, TF PR A 303 URAR 3 WG a0 B & SR 1 i B3 &) Wopfdl Uer 31 5| BH A 0
gell Fifder & v e oi Sfaa Sfd ¥ ud1 & U T U gall | T ST 7 g ! &1 Jeeter faur 32

An officer has sanctioned procurement of equipment from a firm owned by his family. The firm participated in an open tender
and fairly emerged as L1. Has the officer acted in violation of any rules?

(A) (@) Tt S & AT T ST T8l b T § i T A A P @ oy oI ot g & dey
S THR B Faddl e aXd & o) Yadbar ag 3o et & el H S

(a) Canon of financial propriety has not been observed as officer has not exercised same vigilance on public expenditure as he
would his own




B) g-vﬂuahﬁmawﬂg‘(m ?Mw%aﬂ%mﬁmmﬁmmﬁmmm
e 1 TRI& 0 Y T Ui

(b) Canon of financial propriety has not been observed as the officer should not have exercised powers that benefit him

directly, or indirectly

(©) @1 faia i & T AFe! &1 Jecto fodn T g

(c) All the canons of financial propriety have been violated

(D) (4) ot 1t v 1 Seeted T8 b T g

(d) No rules have been violated

Correct Option(s): A

;ﬁ;w ﬁm(%@ ﬁ@ﬁ%w%ﬁﬁmﬁ%mﬂ%ﬁuﬁﬁaﬁ@amﬁaﬂw&nﬁ

I.ﬁ%ﬁéaﬁ’[aﬁ@1zmwwﬂq€fmm%aﬁmwﬂ$mmmﬁa@ﬂ
u.uﬁmﬁﬁm@ﬁﬁﬁmﬁmmmﬂm%aﬁﬁﬁgmmﬁ@ﬁmam
1. By i o o wiehy S0 8 sne af ST soie &1 WayH Us iy o § e mr g

Examine the following statements in respect of GFR provisions regarding lapse of sanctions and select the correct option:
. Sanction for a fresh charge will lapse if no payment is made within 12 months from issue.

1. Sanction will lapse on specified date if period of currency is mentioned therein.

IIL. Sanction will lapse in the specified financial year if budget provision from a particular year is made therein.

(A) (@) Sudad T

(a) All of the above

(B) (@) hdd 1
(b) Only I

(©) @ Fad1 AR 1
(¢)OnlyTand 11

(D) () Iuded # Y DI el

(d) None of the above

Correct Option(s): A

Q.Wﬁuﬁ@amﬁﬁ%ﬁqmwwﬁ?ﬂﬁmﬂ?ﬂ(ﬂw.&m)ﬂﬂwﬁﬂfﬁawﬁﬂfm 3% praf-gaH el
1. 39 1 B AT &7 @1 IR I ol SR & g § b o 3rded @ ¥ g gidl o

.U T 2N 9 aafed @Y oI areh Y Stet GRS & sd ST gai-H R 1 Sl § 39 S w e 9
a@ﬁmmw%aﬁqﬁsﬁﬁmwaq(mﬁ)mmﬁﬁﬁﬂﬁmaan&raﬁfﬁﬁ%

111, o § Wigd @108) R THIRd o 1 YEP & U a0l S 91iky

v, TE ar T 1S o, R e Farvier o Qi el e mar 8, 39 o eifafea Ut & e fen o W ©

Which of the following statements signifies a disregard of the Budget formulation and implementation principles as laid down
in the GFR?

I. The ultimate responsibility for ensuring that expenditure does not exceed allotment does not lie with the Accounts Officer.
IL Funds drawn from a head where savings are anticipated through reappropriation can be restored if additional funds become
available at RE stage, if necessary.

1II. Voted and charged expenditure must be shown distinctly in the budget.

IV. No expenditure on ‘New Service’ not included in original appropriation can be incurred without additional grant.

(A) @) ST H A B I

(a) None of the above

(B) (@) Had 1 AR IV

(b) Only I and IV
(C) (M) Had 1, 11 3R 1M

(¢) Only I, 1T and III

(D) () HaA I
(d) Only I1

Correct Option(s): A




74,ﬁyﬁf@ﬁﬁﬁﬁmmﬁwwﬁm$g@éﬁmmﬁﬁﬁaﬁaﬂaﬁ?mﬁﬁﬁmﬁ%

I uam%g faig yee

11, Tlich <Al AR o §Hel SURUd B

111, i@ U4 HETaaTRIed @ TR § SRaraa ie &1 ST

v, guit ST & wt Reprel ot et 3R Tfad &0 9 TEd & YAfEd e

Which of the following statements relates to the duties and responsibilities of the Chief Accounting Authority of a Ministry?
I. Financial management of the Ministry

1. Appearance before the Public Accounts Committee

[II, Formulate audit plan in consultation with C&AG
IV. Ensure maintenance of full and proper records of all transactions

(A) (@) Iudad Taft

(a) All of the above

(B) (@) Had 1 AR IV
(b) Only T and IV

(C) (M) Had 1, 11 3RV
(¢) Only I [T and TV

(D) () Had I, m AR IV

(d) Only I, I1T and TV

Correct Option(s): A

-5 XA GRPR 3 3y T Tt Ul fora 31 38 o g TR =i s

Government of India has taken a loan from the World Bank. How is this to be reflected in the accounts?

(A) (@) Tord Uit & = H

(a) As Revenue Receipt

(B) (@) Yeilrd Wil & &9

(b) As Capital Receipt

() @T) YT 111 — i aar o

(c) In Part [1T — Public Account

(D) () Ui f3dior & e T B0, ol R 3w & T

(d) Under Capital Division as Public Debt. Loans & Advances

Correct Option(s): A

6. T T T 39 B 3 Fufa ¥ & R 9y ISR & oRal &1 W@ {51 Sl 82

Which authority prescribes the form in which the accounts of the Union government are to be maintained?

(A) (@) Foreies Td TeTaaTie & TRl 3 uyuid

(a) President, on the advice of the C&AG

(8) (@) fa Harer & gl U Iyl

(b) President, on the advice of the Ministry of Finance

(C) () eraT FRIgs

(c) Controller General of Accounts

(D) (%) i@ td WeRRarIiiad
(d) C&AG

Correct Option(s): A

-7, TR Al H e BT SHRICRE T a0l & UGTIH (BIgIRD) & 3R faan rran g | i @t
24 YUTTell &1 Tgl UaTimhH &1 §2

Transaction are recorded in government accounts as per a hierarchy of functional classification. What is the correct order of
this system of classification?

~ " -~ r ~ e e N ~




(A) (@) Hd XY, SU MY, 7Y MY, Sfssic A
(a) Major Head, Sub Head, Minor Head, Object Head

(®) (@) T i, g <, 3 2, fawga o

(b) Major Head, Minor Head, Sub Head, Detailed Head

(©) (T TS 2, - i, ey 2, 3 i, gl e, sifeore <

(¢) Major Head, Sub-Major Head, Minor Head, Sub Head, Detailed Head, Object Head

() (9 T i, 3u-aen <, g 2, g <, sifsoie <

(d) Major Head, Sub-Major Head, Minor Head, Detailed Head, Object Head

Correct Option(s): A

-5, Erfefad & @ S e 4 & TaE $ U6 e ) 62

Which of the following is not an objective for maintaining Proforma accounts?

(A) (@) TR fafmiuT & arafad drTd B udl T

(a) To ascertain true cost of government manufacturing

(B) (@)asummﬁ?ﬁa‘fﬁawﬂmmum@%maﬁ

(b) To ascertain whether government agency concerned is making profit or loss

() () alferd TRy o) RiTerds Tl & |1 P Fucrs ST

(c) To provide concerned agencies with a measure of functional autonomy

(D)(H)Wﬂﬁ&@ﬁ%ﬁ&ﬁﬁ%ﬁﬁﬁ@ﬁﬁﬁﬁﬁ@%%ﬁ@wﬁam

(d) To accommodate functioning of agencies of commercial/quasi-commercial nature with government accounts

Correct Option(s): A

79.@%@@%%%@@@1@@?@@@@%aww%mﬁmasa{rq‘zﬁaﬂaﬁ
& Y g

L. U TR Hraferd o g, HRVI Faic gl oI & g [ febar 7T STl praferd AT — YSiTa
1. dted (Rgaa) o e sfereH - Iord
lIl.WWﬁWHﬁW@QHmWﬁWW—W

V. U6 0@ &I aYH @@ — IoRd

Please identify which of the following examples do not conform to the principles for allocation of expenditure as Capital or
Revenue:

1. Temporary office accommodation built after floods destroyed a government office — Capital

1. Contribution to a Renewal Reserve Fund — Revenue

111. Mid-life upgrade to aircraft extending its life - Revenue

IV. Periodical maintenance of a tank - Revenue

(A) (@) Iuad H U DI T

(a) None of the above

(B) (@) Haa 1 3R 11

(b) Only I and III

(©) (N FHad 11 3R v
(c) Only I and IV

(D) (9) &Had 1 3R 1M

(d) Only 1I and 111

Correct Option(s): A




80. FERiRT $1 TS oo it siargal fFam! § 7 761 T 8, $UI1 UgdH DY
1. U ST i A £- 3Rt U Hgd gUAE @1 ¢ b ag driad & feA-ufifas & ol gareH & forg g Al ot

EasUe
11, A1GaT 3R HIh 1Rl & mm@mm |GG RIRES
m.qaimfha?s?%zmaéimﬁ 2l @1 arel A o forw B fobar rar g
Tv. U Wi 283 1 U 3T (3FuTeirdcs) dlell @lell 71 &
Some of the procurement actions given below are not in consonance with rules. Please identify:
1. A government office has not undertaken e-procurement stating that it only procures items for day-to-day office functioning
1. Single bid has been invited on grounds of compatibility and standardisation
[II. Two bidders have been invited to bid for a Limited Tender Enquiry
IV. An unsolicited bid in a Limited Tender has been opened

(A) (@) ST ot

(a) All of the above

(B) (@) Had 1, 11 3R 111
(b) Only I, II and 1T

(C) () Pad 1, 1 ARV

(c) Only I, Il and IV

(D) (@) Bad L 1 AR 1V
(d) Only I, Il and TV

Correct Option(s): A

o1, Prgfeiad §Q frd s (3FT ) S 6 U B 81 A1 TR 67

Which of the following are not exempted from depositing Earnest Money?

(A) (@) TH.0H.0H3. TAHT & gR U1 aR I TH.OHTH S,
(a) MSME:s as defined by department of MSME

(B) (W) AP 3 ef&aqr Hufd!

(b) ‘Make in India® companies

() () AT Afd 3R TieTe faHIT GRT 9T A=A e 8

(¢) Startups as recognised by Department of Industrial Policy & Promotion

(D) (9) <1 Gdie TTe- & Ty UShigpd TH.UHUH S,

(d) MSMEs registered with Central Purchase Organisation

Correct Option(s): A

82. Ud failg a&%aﬁm{%{? a7 qar, Fore IR Y b Ry s wore 7 sAFgde fere 1o fopan 7 8, iR g
had gfarad H 9 fo TRI 3 o 15 {1 SIe?

Expenditure shall be incurred during a financial year on a “New Service™ not contemplated in the Annual Budget for the year
only after which of the following conditions is fulfilled?

(A)@wwwawmmmmém

(a) After obtaining a supplementary grant or appropriation

(®) (@) 3T T & ERM A EHwaT F 8 U ofdH U U SH & gaid

(b) After obtaining an advance from the Contingency F und during that year

(©) () 39 I & SR 3T b Y Ua 3z uie arya fafaer ure fe oI & g

(c) After obtaining a supplementary grant or appropriation or an advance from the Contingency Fund during that year
(D) mwﬁﬁuaﬁ%%aﬂ‘%@mﬂmmaﬁfﬁ?mmm%mmaﬁ?mammﬁﬁaﬂﬁm
RIR RS

(d) Expenditure cannot be incurred during a financial year on a “New Service” not contemplated in the Annual Budget for the
year

Correct Option(s): A




o3, §91¢ e $ Uy # P 7 A v P s &1 19 W 4f#id 78] 62

Which of the following is not the role of a Controlling Officer in respect of Budget allocation?

(A) (@) 04 @) faftrad W Hem WiieH g1 31 7

(a) Expenditure has been duly sanctioned by competent authority
(B) (@) o4 I91C 3MTseH &) YA ¥ 371 gl gl 3

(b) Expenditure does not exceed budget allocation

(©) (1) o I See b fow fepa e © v forg FAfY Sucisy HvE Tk ©

(c) Expenditure is incurred for the purpose for which funds have been provided

(D) (%) T AT H g

(d) Expenditure is in public interest

Correct Option(s): A

%%T%@gqmﬁﬁ TR FoTE Tae ARIERT, 2003 (U, HRTH. Tae 2003) & Hay § FEfRad Sl H 4 M W
1.3@{a@ﬁ%mafwsﬂa%aﬁquﬁuﬁf%a&ﬂqwmarﬁ%m,ma@ﬁuﬁﬁmw%mm
%ﬁwﬁﬁn‘mammaﬁm 3Ridl g TR F ! o 3R & favs 315 i fafis SRars 18! &

=g AR & A P TWHR g B ol 1t HRA SHyal IHd fdt off Fofa 3t Gl
%%ﬁﬁ%ﬁwﬁw @&@q%ﬂa‘fé’rrn i mmmm e RS o
=g T F oH FE AR GRT SIS [y Hl SRaT Sud ot ot B d
%%“ﬁmmawmm@ﬁﬁwgnm N L Rl

V. w@%%mﬂm,mmﬁﬂﬂﬂﬁmw%wuﬁ%&ﬁﬁm?ﬁ,q%w&mﬁm%wﬁ
Which of the following statements about FRBM Act. 2003 are correct?

I. No legal proceedings shall lie against the Central Government or any officer of the Central Government for anything which
is in good faith done or intended to be done under this Act or the rules made thereunder

II. No civil court shall have jurisdiction to question the legality of any action taken by, or any decision of, the Central
Government, under this Act

1II. Any civil court of the country shall have jurisdicton to question the legality of any action taken by, or any decision of, the
Central Government, under this Act

IV. The provisions of this Act shall be in addition to, and not in derogation of, the provisions of any other law for the time
being in force

(A) (@) BYTL 1 AR IV TS §

(a) Statements I, IT and IV are correct

(B) (T) BYA 1, 11 3R v Tl ¢
(b) Statements I, 11l and IV are correct

(©) (M B3 N Hu gl 121 8

(¢) None of the statements are correct

(D) (9) B 1 R 1 TE1 §

(d) Statements I and II are correct

Correct Option(s): A

o5, FufIfaEd § Q@ @i O To T et 3R aeie ude Hffiam, 2003 3 TP AR e 8

Which of the following is not a feature of Fiscal Responsibility and Budget Management Act, 2003?
(A) (@) IToRG ©1C DT YA B

(a) Eliminating Revenue Deficit

(B) (@) TSTD I °I Sl HH DA

(b) Reducing Fiscal Deficit

(©) @1 YRA Rord § Y SR B R Blg Trddl gl

(¢) No Restriction on Government Debt from RBI

(D) (F) A B0 Bl WA AT
(d) Limiting Public Debt



Correct Option(s): A

96, YR TRHR T Frsgre] aore famfor (rwTEe s | FafifEd § 8 6 3 &2 38 ©

| e gore- R & yaie HaETed & e Y & 3e9dl & Y bRl 3 AgLaHd Bl § 3R 37 Il &l
e R0 SRimT)/aRiEa! @) Ugd H S AaegDd gidl

1L FSq7e Sole- 101 31 HRd TRHR H a4 1969 H URH (U1 T/ 4T

111, T T o vy afdRu] e ssfe-FH @t ATGeUHAl & AR §

v, 3 ardidd @ﬁﬁ@amﬁmwaﬁqmﬁwﬂmﬁaﬁwmﬂémwmmﬁ
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Which of the following statements on Performance Budgeting in Gol are correct?

. Performance Budgeting requires enunciation of objectives of the functioning of each Ministry and identification of
programmes/activities to achieve these objectives.

1. Performance Budgeting was launched in Gol in 1969.

111. The fumctional classification of Major Heads is as per the requirement of Performance Budgeting.

IV. Physical targets which are hoped to be achieved with the funds being sought in the Budget must be shown.

(A) (@) ST Tt

(a) All of the above

(B) (@) $ad 1, 11 R 1V
(b) Ouly I, 1T and IV

(C) () dd 1 ARV

{(c) Only I and IV

(D) () Had 1
(d) Only I

Correct Option(s): A

g7, ufoT aere- Fmfor @ e Pl oyl d 8 ol 91 6T el T8 ©
1. URRUITH qTe- o & GRUTH &) UM 3 &) A1aggad gid! o

I ﬁa@wﬁﬁm@mﬁmmmwm%asmg%%

1. GRS (HT3ed) B FIEd wd 8 g § ERIEIR]

v, TR o B Higaell, SR SRy/SsT SR SoR-d 8 &l SaR B & [T Iu-aed] Pl SFferd fbdl
Which of the following statements regarding Outcome Budgeting is not correct?

1. Outcome budgeting requires identification of outcomes.

IL. Construction of schools is only an output of the Department of Education, not an outcome.

1II. Outlays must be converted into outcomes.

IV. Outcome Budget should include sub-targets for coverage of women, SC/ST and N-E Region.

(A) (@) Dad IV
(a) Only IV

(B) (@) Pad Il
(b) Only I

(€)@ Had 1 R v
(¢) Only IT and IV

@) (@) T HUA TE1 §

(d) All of the statements are correct

Correct Option(s): A



5. FIERiGd Fual § & $I W S TRUTH-oIE B JaR 3 9 Yafd 8

. guR Jurd 3R AT Ut @ RfEd U4 a1 3 ufome & Ty Yeg (i) fovar s =nfge
1. gf gRurH mqﬁiﬁﬁuﬁaa{ﬁmaﬁammm

11, o9 &1 {garu SR TR-TSTT H T- S febar Sff el §

1v. IcTE o) T0Ta i Hi GRIT ST =gy

Which of the following statements relate to preparation of Outcome Budget?

1. Reform measures and policy initiatives must be linked to outputs and outcomes.

L. If outcomes are not measurable, likely benefits may be mentioned.

I1I. Expenditure may be broken up into Plan and non-Plan.
IV. Quality of output should also be brought out.

(A) () IWad g1

(a) All of the above

(B) (@) HaA 1 AR 11
{b) OnlyTand I

(©) (N HIA L 1 AR v

(¢) Only L, IT and IV

(D) (9) Had 11 R 1V

(d) Only II and IV

Correct Option(s): A

55, GRUTH- 3R awie i & R FeRfGa § 8 & @ 98l 82

Which of the following is correct for Outcome-Based Budgeting?
) g A Iae U Ry Ty acte-Finiu & giha & o fafbm Harerd] & aref vl dioias: aREs W
%gﬁ%wﬁ ard m%aﬁaﬁasa&ﬁgﬁaﬁ?rm g

(a) It is a process of budgeting done at micro levels that sets measurable physical targets to be allocated on every planned
project under various ministries.

B) (W) URUTH g7c U TRPR g1 44 Bl 15 [ 3R Tt 819 918 GRoTH & did U YagdHul & RIfUd &3 &
U AW &4 SIdl §

(b) The outcome budget becomes a means to establish a linkage between the fund spent by a government and the outcome that
follows.

(©) mﬁ)g%wwﬁmasmﬁmm%@asm%%ﬁmﬂﬂm 3R faurT A oo fafRry adf & siar @
(c) It works as the progress card on what various Ministries and departments have done within a particular year

(D) (9) IGe Tt

(d) All of the above

Correct Option(s): A

90, HRd &1 3bETe A & Ydu H Fufifad syl W faur &

L 4R @Y Arep T [t 3 RIG HRA WA BT ORI 266(1) b AIH 1R T

11, TR 37 A 7 T AR B 4w bl el el § X g8 Fifed Fftral TR &1 el el @
I, UIep e SATET YA g b QR T BT AR 3o e M far s g
IUYdd H 4 DI AL 82

Consider the following statements regarding the Contingency Fund of India:

I. Contingency Fund of India has been established under Article 266(1) of the Indian Constitution.

1. The government acts like a banker in these transactions, and the funds in it do not belong to the government.
[11. Funds used during a natural calamity or war are taken from the Contingency Fund.

Which of the above is/are correct?

(A) (@) Had 1 AR m

(a) I and III only

(B) (@) bdd 1Ml
(b) II only

(C) @T) Had It
(e) Il only




(D) (4 Tg U Tu Wit faarey

(d) All of the options given here

Correct Option(s): A

91.%ﬁ%@$ﬁ§$ﬁﬂﬂﬁyﬁ@aﬂﬁﬁ%mwm§;ﬁ%

. YR d9g SR HRA &) 3D [y o Ifdd a
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111, IR @1 AT AT & a1 HRHR HRd & Iyl & urd Ffgd 8

v, T GRI @ o) WiTigp fop o Wit FATR) ot ST ST (HBRYT) 0 &) U1 b o ferg fopar sirar 8

Which of the following statements about the Contingency Fund of India is correct?

I. Parliament of India by law may establish a Contingency Fund of India.

IL It is in the nature of an Imprest.

III. The Contingency Fund of India is placed at the disposal of the President of India.

IV. The fund is used for meeting unforeseen expenditure pending authorization of the expenditure by the Parliament.

(A) (@) BYTL 11 AR VI E

(a) Statements L, II and IV are correct

(B) (@) YA 1, I MR 1V TE1 &

{(b) Statements I, Il and IV are correct

(C) MM BYT1 AR v ES T

(c) Statements [ and IV are correct

(D) (F) T B TE1 §

(d) All the Statements are correct

Correct Option(s): A

00 A & e FY @ FEikiEad saeR § A By 2awR W A &1 gl fbar S ¥ohdl §

%%ﬁﬁsﬁm%%immwwﬁ@ﬁﬁmmﬁﬂaﬁq&nmaaﬂmﬁmmmmmw
NPT IS BT WA H3 & I & Ay
gx.mﬁmm%ﬁﬂ%qﬁm@ﬁq%gmm sabad

Iv. S U fyate a¥ 8 &1 soic] &) U (a1 SITal ¢ of S o0d &1 iy ue &1

Advances may be drawn from the Contingency Fund of India in which of the following instances:

I. An attack by a foreign power needs to be met by emergency import of additional defence equipment not catered for in the
budget.

1. To fund relief efforts in the face of a natural calamity.

1L To fund a new service not provisioned in the Budget.

IV. To fund unforeseen expenditure when two budgets are presented in an election year.

(A) (@) Iudad gHi

(a) All of the above

(B) (@) bad 1 AR 1
{b) Ouly I and II

(C) (1) Had 11 AR v

(c) Only I and TV

(D) (8) Had I, 11 R 1M

(d) Only I, 11 and I1I

Correct Option(s): A



03, YR E1 TS I | Yt Frafifad oyl 38 & W B4 81 Tl §

YR % IR S ) IR A & o s Y argha aiftm 3 faxdia 3d I TH Aty
L PQl S A

1 ot B s o @ A o P ol H 3 veR et i sem S8 7 g8 Fifed fi 9
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Which of the following statements regarding the Contingency Fund of India are incorrect:

1. A specified sum shall be placed at the disposal of the Financial Commissioner, Railways out of the advance drawn from the
Contingency Fund to meet unforeseen expenditure of the Railways.

1. Actual expenditure from advances drawn from the Contingency Fund will be recorded in the accounts in the same manner as
if it had been incurred from the Consolidated Fund.

(A) (@) Hadl HYA 1
(a) Only Statement I

(B) (@) dAAd HYT 11
(b) Only Statement 1

(C) () Tl Y 8T B

(c) Both Statements are correct

(D) (51) S B 7Ted ¢

(d) Both Statements are incorrect

Correct Option(s): A

o4, IR ) 3 a® Ry @) sftfrm, 2021 & 3reliA aopfare R T 3w & forg unefn u foh g uRgd fan

To whom shall the applications for advance from the contingency fund shall be made under the Contingency Fund of India
(Amendment) Rules, 20217

(A) (@) Tfta, 309 faHmT, fa< Hared

(a) Secretary, Department of Expenditure, Ministry of Finance

(B) (@) fa, anfda e faHmT, fa< Hare

(b) Secretary, Department of Economic Affairs, Ministry of Finance

(C) Ty 3feaed, fa amam

(¢) Chairman, Niti Aayog

(D) (9 fart g oAl

(d) Minister of State for Finance

Correct Option(s): A

o5, Ud Ul B2 TS HUHT P 3{erel (IR & U H R o o i ured g g S 7 b 7%
ffREd Ue W 219G gl § AT 315G gl 81 ok

A person shall not be qualified for appointment as the Chairman of the Central Administrative Tribunal unless he is, or has
been:

(A) () I AT DT Ry
(a) Judge of a High Court

(B) (@) FaTed e &I ARl
(b) Judge of Supreme Court

(©) (M) TuH §oft & ASRSE & ~graTerd &7 A
(c) Judge of a First-Class Magistrate Court

(D) () SR A A DI

{(d) Any of the above

Correct Option(s): A




o6, BN TR HEGRT P TR FI g o § Yelftyd Ffafad Sl 9 &1 W S Tea ¢

L 3 U I TR wEIEnT (grdraiie) STl S Wb § ol f Wl e & il & GIMERIEGES

11 ST e S U e gR & T i 3 T R gU SaT e & ey Apufd g1 3 g o Jahdl 8
111 U8 gefaeR &1 sife & i o forarfaftl &1 iR & #d @

Iv. 4Rq 3 o 1 Fafrad Rrafd erfured S & g1 gerdl Sl §ebd §

Which of the following statements regarding the removal of Chairman/Member of the Central Administrative Tribunal are
incorrect?

1. May be impeached in like manner as prescribed for judges of the Supreme Court.

1. May be removed by the President for proved misbehaviour or incapacity after an inquiry by a Judge of the Supreme Court.
11I. Government may prescribe procedure for investigation of such misbehaviour.

IV. May be removed by executive order duly notified in the Gazette of India.

(A) (@) Dad 1

{a) Only I

(B) (W) $Id 11 SR 11

(b) Only I and III

(C) () Had1 ARV
(¢) Only I and IV

(D) (8) Haad 1, 1 SRV

(d) Only II, IT and TV

Correct Option(s): A

TS e HfAEH, 1985 $ WHRI Bl [ fufefaa d 9 aH
97 &ﬁmﬁm%ﬁmwwss Wa%s%l% R ARl gid g 3

Provisions of the Administrative Tribunals Act, 1985 do not extend to certain government employees. Which of the following
fall in the category of employees to whom the Act applies?

(A) (P) TIE U1 Hiftid

(a) Armed Forces personnel

(B) (4) YdT= e & St

(b) Supreme Court employees

(C) (1) Fdae® Td TRRRaTIE® & Wi & ifaRiT Ud ©Ih

(c) Officers and staff of the C&AG organisation

(D) (9) TG & HHAR

(d) Parliament employees

Correct Option(s): A

o8. Fufafag w faar &<
St

. ol ] G ST

fgfaiad § 9 [l Yataw g ® affnfd fesar g2

Consider the following:

1. Citizens Charter

II. Public Grievance Redress

III. Public Service Delivery

Which among the above is/are included in the Sevottam framework?

(A) (@) Bad 1 R m

(a) T and III only

(B) (@) dad 1 3R 11
(b) 1 and I only

(C) @T) Had 11 R 11

(c) Tl and III only
(D) (3 T&l RU W G+t fawvey

(d) All the options given here




Correct Option(s): A

99, TR QR 3R dlid RIebTad [AHIT (DARPG) BRI SIRI T 7T fe-FERI & SiTHR 78 e B Sl § [
T TRET W13 U CEaReiad FRISRId IR $IYaTg B3 &1 Ufhdl &l RAMd DY 57 Yot T B T 4 Wl Tel
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11. RITId aTged & &1 Ugd e 3R RIS $1 G B &l G HH1 B! a0 H1
11, R BT IR0 3 B iR T i &1 SruTe e B S g did siftieial @ e Fad

%mﬁwﬁ@%ﬁaﬁmﬁm Blgdd ol

Guidelines issued by Department of Administrative Reforms and Public Grievances (DARPG) require each government
organisation to establish a documented grievance handling process. Which of the following statements in this regard is not
correct?

1. Publicise the name and contact details of the Grievance Officer.

1. Identify complaint prone areas and fix time limit for settling complaints.

I11. Fix responsibility on officers who fail to adhere to prescribed time limits for redressing complaints.

IV. Obtain feedback from the complainant regarding the decision taken on the complaint.

(A) (@) Fad 11, 1 3R IV

(a) Only 11, IIT and IV

(B) (@) dhdd 111
(b) Only III

(C) (1) Had IV
(c) Only IV

(@) (&) Gl T Tl §

(d) All the statements are correct

Correct Option(s): A

100. i T Freeem, $iade ghammy, 3 R a2y &0 Y 39 Riewrd o1 99id 0 3 §ih 531 6 e @1
ﬂé%aﬁ‘wwmw%mﬁ@ﬁwmmﬁwma Pfifed yeR & &H °
AHTE! UR FICQerd gRI U9 gl fordl STl 8

L H%IZITW BIER

I1. Ha] & HiHel (@i el § e @l Sigdy)

111 H41 & R R Ugd gl ders s (2emad

v, I e

Directorate of Public Grievances. Cabinet Secretariat, has been set up to selectively examine grievances particularly those
where complainant has failed to get redress from the internal machinery of the Ministry concerned. Which of the following
types of cases are not taken up by the Directorate?

1. Policy matters

Il. Service matters (excluding those relating to terminal benefits)

[II. Grievances already disposed off at the level of the Minister

IV. Sub judice cases

(A) (@) Iudad gl

(a) All of the above

(B) (@) Had 1 3R v

(b) Only T and IV

(C) () Bad 1, 11 SR TV
(c) Only I, T and IV

D) (9) Fezera fiod 4t TR & HFd 1 Sl B ebdll @

(d) Directorate may examine any type of case

Correct Option(s): A




